

Republic of the Philippines Department of Health FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER Quirino, Luna, Apayao



INVITATION TO BID FOR SUPPLY AND DELIVERY OF DRUGS AND MEDICINES FOR 3RD QUARTER

1. The Far North Luzon General Hospital and Training Center, through the Business Related Fund intends to apply the sum of Eleven Million Nine Hundred Thirty-Three Thousand Five Hundred Forty Pesos Four Centavos (Php11,933,540.04) being the ABC to payments under the contract for Supply and Delivery of Drugs and Medicines for 3rd Quarter / IB No. 2024-04-028-G. Bids received in excess of the ABC shall be automatically rejected at bid opening.

Line Item Procurement

Item	Unit	Item Description	QTY	Unit Cost	Total Cost
No.					
1	tab	Acetazolamide 250mg	100	14.93	1,493.00
2	sachet	Acetylcysteine 100mg granules for Oral Solution	200	12.00	2,400.00
3	tab	Aciclovir 200mg	100	15.00	1,500.00
4	tab	Aciclovir 400mg	300	27.44	8,232.00
5	vial	Albumin, Human 20%, 50ml Solution for IV Infusion	400	2,387.00	954,800.00
6	tab	Alprazolam 500mcg	100	17.33	1,733.00
7	amp	Amikacin sulfate 125mg/ml, 2ml Solution for Injection (IM/IV)	600	45.00	27,000.00
8	bot	Amoxicillin 100mg/ml, 15ml Oral Drops	40	22.00	880.00
9	tab	Ascorbic acid 500mg	15,000	2.10	31,500.00
10	vial	Benzylpenicillin 1M units Powder for Injection (IM/IV)	3,000	18.50	55,500.00
11	tab	Betahistine 24mg	600	30.00	18,000.00
12	tab	Betahistine 16mg	6,000	20.00	120,000.00
13	tab	Betahistine 8mg	2,000	15.00	30,000.00
14	strip	Bisacodyl 10mg rectal suppository	200	97.00	19,400.00
15	neb	Budesonide 250mcg/ml, 2ml Respiratory Suspension	1,500	63.75	95,625.00
16	amp	Bupivacaine HCl 0.5% 5ml Solution for Spinal Injection	2,000	79.45	158,900.00
17	amp	Calcium Gluconate 10%, 10ml Solution for Injection (IV)	600	119.00	71,400.00
18	bot	Cefalexin 250mg/5ml, 60ml Oral Suspension	144	58.00	8,352.00
19	vial	Cefazolin 1g vial powder for Injection (IM/IV)	3,000	80.00	240,000.00
20	bot	Cefixime 100mg/5ml , 60ml Oral Suspension	40	220.00	8,800.00
21	vial	Ceftazidime 1g powder for Injection (IM/IV)	2,500	120.00	300,000.00
22	vial	Ceftriaxone 1g powder for Injection (IM/IV)	8,000	65.00	520,000.00
23	bot	Cefuroxime 250mg/5ml, 50ml Oral Suspension	144	175.00	25,200.00
24	vial	Cefuroxime 750mg powder for Injection (IM/IV)	8,000	50.00	400,000.00
25	bot	Cetirizine 2.5mg/ml syrup, 10ml Oral Drops	144	125.00	18,000.00
26	bot	Cetirizine 1mg/ml syrup, 60ml	144	75.00	10,800.00
27	tab	Cinnarizine 25mg	4,000	3.00	12,000.00
28	bot	Clarithromycin 125mg/5ml, 50ml Oral Suspension	100	220.00	22,000.00
29	cap	Clindamycin 300mg	10,000	15.00	150,000.00
30	amp	Clonidine 150mcg/ml, 1ml Solution for Injection (IV)	20	110.00	2,200.00
31	bot	Co-amoxiclav 200mg/28.5/5ml, 70ml Oral Suspension	72	200.00	14,400.00
32	bot	Co-amoxiclav 400mg/57mg/5ml, 70ml Oral Suspension	72	299.97	21,597.84
33	bot	Dicycloverine 10mg/5ml Syrup, 60ml	30	35.00	1,050.00
34	tab	Domperidone 10mg	4,000	14.00	56,000.00

Contact No.: 0977-6235991 Website: fnlghtc.doh.gov.ph Email: fnlghtc@yahoo.com.ph





Republic of the Philippines Department of Health FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER



Quirino, Luna, Apayao

35	tab	Dydrogesterone 10mg	500	89.00	44,500.00
36	amp	Ephedrine Sulfate 50mg/ml, 1ml Solution for	200	81.50	16,300.00
		Injection (IM/IV)			
37	tube	Erythromycin 0.5%, 5g Opthalmic Ointment	200	155.00	31,000.00
38	amp	Fentanyl Citrate 50mcg/ml, 2ml Solution for Injection (IM/IV)	300	58.00	17,400.00
39	tab	Furosemide 20mg	1,200	5.00	6,000.00
40	tab	Furosemide 40mg	1,200	6.40	7,680.00
41	amp	Gentamycin 40mg/ml, 2ml Solution for Injection (IM/IV)	2,500	29.45	73,625.00
42	vial	Hydrocortisone 250mg Powder for Injection (IM/IV)	1,200	90.00	108,000.00
43	amp	Hyoscine 20mg/ml, 1ml Solution for Injection (IM/IV)	10,000	30.00	300,000.00
44	vial	Hypromellose 0.3%, 10ml Opthalmic Solution	300	230.00	69,000.00
45	bot	Ibuprofen 200mg/5ml, 60ml Oral Suspension	144	74.00	10,656.00
46	tab	Ibuprofen 400mg	4,000	3.00	12,000.00
47	amp	Iron sucrose 20mg/ml, 5ml Solution for Injection (IV)	600	220.00	132,000.00
48	amp	Isosorbide dinitrate 1mg/ml, 10ml Solution for IV Infusion	200	544.00	108,800.00
49	amp	Ketorolac tromethamol 30mg/ml, 1ml Solution for Injection(IM/IV)	12,000	30.00	360,000.00
50	tab	Levetiracetam 500mg	1,000	16.38	16,380.00
51	tab	Levothyroxine 50mcg	1,200	5.60	6,720.00
52	vial	Lidocaine HCl 2%, 50ml Solution for Injection (IM/IV)	600	50.00	30,000.00
53	cap	Loperamide 2mg	200	2.50	500.00
54	cap	Mefenamic acid 250mg	1,000	1.40	1,400.00
55	tab	Methyldopa 250mg	2,000	15.00	30,000.00
56	amp	Methylergometrine 200mcg/ml, 1ml Solution for Injection (IM,IV)	400	89.98	35,992.00
57	vial	Methylprednisolone 1g Powder for Injection (IM/IV)	20	2,484.01	49,680.20
58	tab	Metoprolol 100mg	1,000	2.97	2,970.00
59	tab	Metoprolol 50mg	5,000	2.50	12,500.00
60	bot	Metronidazole 125mg/5ml, 60ml Oral Suspension	72	60.00	4,320.00
61	tab	Metronidazole 500mg	5,000	15.00	75,000.00
62	tab	Montelukast 10mg	4,000	16.00	64,000.00
63	bot	Multivitamins Syrup, 15ml Oral drops	144	58.00	8,352.00
64	tube	Mupirocin 2%, 15g Topical Ointment	400	135.00	54,000.00
65	amp	Nicardipine 1mg/ml, 10ml Solution for IV Infusion	1,500	385.00	577,500.00
66	cap	Nifedipine 10mg	800	8.50	6,800.00
67	amp	Norepinephrine 1mg/ml, 4ml Solution for Injection (IV)	6,000	450.00	2,700,000.00
68	cap	Omeprazole 20mg	4,000	4.00	16,000.00
69	cap	Omeprazole 40mg	8,000	8.00	64,000.0
70	vial	Oxacillin Na 500mg Powder for Injection (IM/IV)	2,000	90.00	180,000.00
71	tab	Pantoprazole 40mg	100	18.00	1,800.00
72	bot	Paracetamol 100mg/ml Syrup, 15ml Oral Drops	144	45.00	6,480.00
73	bot	Paracetamol 125mg/5ml Syrup, 60ml	144	22.00	3,168.00
74	bot	Paracetamol 250mg/5ml Syrup, 60ml	288	80.00	23,040.00
75	vial	Paracetamol 10mg/ml, 100ml Solution for IV Infusion	600	248.88	149,328.00
76	amp	Paracetamol 150mg/ml, 2ml Solution for Injection (IM/IV)	12,000	12.00	144,000.00
77	vial	Piperacillin+Tazobactam 4g+500mg Powder for Injection(IV)	6,000	225.00	1,350,000.00
78	tab	Potassium Chloride 600mg	1,200	15.60	18,720.00
79	tab	Potassium Citrate 10meq (1080mg)	12,000	12.00	144,000.00
80	tab	Prednisone 20mg	1,000	6.00	6,000.00
81	tab	Prednisone 10mg	1,000	4.25	4,250.00

Contact No.: 0977-6235991 Website: fnlghtc.doh.gov.ph Email: fnlghtc@yahoo.com.ph





Republic of the Philippines Department of Health

FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER



Quirino, Luna, Apayao

		D 1.1110146	2.2.5		00400
82	tab	Propranolol HCl 10mg	3,000	7.70	23,100.00
83	tab	Propylthiouracil 50mg	3,500	15.00	52,500.00
84	tab	Ranitidine 150mg	300	1.68	504.00
85	tab	Rosuvastatin 20mg	2,000	7.98	15,960.00
86	tab	Sambong 500mg	12,000	6.50	78,000.00
87	tab	Sevelamer Carbonate 800mg	400	38.09	15,236.00
88	tube	Silversulfadiazine 1% 25g Topical Cream	100	129.78	12,978.00
89	tab	Sodium Bicarbonate 650mg tablet	3,000	3.98	11,940.00
90	tab	Spironolactone 25mg	3,000	11.20	33,600.00
91	tab	Sucralfate 1g	3,000	45.00	135,000.00
92	cap	Tamsulosin 200mcg	200	18.00	3,600.00
93	cap	Tamsulosin 400mcg Prolonged-Released	100	18.00	1,800.00
94	amp	Tetanus Antitoxin Refined, 1500IU/0,7ml	6,000	126.88	761,280.00
		Solution for Injection (IM/IV/SC)			
95	vial	Timolol 0.5%, 5ml Opthalmic Solution	40	359.75	14,390.00
96	cap	Tramadol HCl 50mg	2,000	4.50	9,000.00
97	amp	Tramadol HCl 50mg/ml, 1ml Solution for	4,000	15.00	60,000.00
		Injection (IM/IV)			
98	cap	Tranexamic acid 500mg	3,000	12.00	36,000.00
99	tab	Ursodeoxycholic Acid 250mg	1,000	34.14	34,140.00
100	amp	Vitamin B-complex 100mg/100mg/1mg, 3ml	4,000	30.00	120,000.00
		Solution for Injection (IM/IV)			
101	bot	Zinc sulfate 27.5mg/ml,(10mg Elemental Zinc),	144	68.00	9,792.00
		15ml Oral drops			
102	bot	Zinc sulfate 55mg/5ml,(20mg Elemental Zinc),	288	42.00	12,096.00
		60ml Syrup			

- 2. The *Far North Luzon General Hospital and Training Center* now invites bids for the above Procurement Project. Delivery of the Goods is required within *Thirty (30) Calendar Days.* Bidders should have completed, within *Two (2) years* from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders).
- 3. Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) No. 9184.
 - a. Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.
- 4. Prospective Bidders may see opportunities Bidding Document through:
 - a. PhilGEPS https://notices.philgeps.gov.ph/
 - b. Agency Website https://fnlghtc.doh.gov.ph/invitation-to-bid/)
 - c. HOPPS Bulletin Board located at Administrative Building, Far North Luzon General Hospital and Training Center, Quirino, Luna, Apayao;
- 5. A complete set of Bidding Documents may be acquired by interested Bidders on April 4 23 2024 from the given address below and website(https://fnlghtc.doh.gov.ph/invitation-to-bid/), payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of **Twenty-Five Thousand Pesos (Php25,000.00)** must be made before opening

Contact No.: 0977-6235991 Website: fnlghtc.doh.gov.ph Email: fnlghtc@yahoo.com.ph





Republic of the Philippines Department of Health FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER Quirino, Lung, Apayao



of bids. The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.

- 6. Payment of the applicable fee for the Bidding Documents must be made before opening of bids. The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person by facsimile, or through electronic means.
- 7. The *FNLGHTC* will hold a Pre-Bid Conference¹ on *April 11, 2024, 10:00* am at *FNLGHTC*, *DAD's Hall Administrative Building* which shall be open to prospective bidders.
- 8. Bids must be duly received by the BAC Secretariat through **manual submission** at the office address indicated below, on or before *April 23, 2024, 10:00 am*. Late bids shall not be accepted.
- 9. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in **ITB** Clause 14.
- 10. Bid opening shall be on *April 23, 2024, 10:00 am*. at the given address below. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- 11. The *Far North Luzon General Hospital and Training Center* reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 12. For further information, please refer to:

 [JULIET A. CABRERA]

 [PROCUREMENT OFFICE]

 [FAR NORTH LUZON GENERAL HOSPITAL & TRAINING CENTER, QUIRINO LUNA, APAYAO]

 [julietcabrera30@yahoo.com]

 [0918-9065148]
- 13. You may visit the following websites: For downloading of Bidding Documents: https://fnlghtc.doh.gov.ph/



Contact No.: 0977-6235991 Website: fnlghtc.doh.gov.ph Email: fnlghtc@yahoo.com.ph SOCOTEC ISO 9001

¹ May be deleted in case the ABC is less than One Million Pesos (PhP1,000,000) where the Procuring Entity may not hold a Pre-Bid Conference.